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H= E=Z(Golden Rules)

HO{E 20| 2= AED 219 222 0[i5H= Q0| EM o S25It ol =M
(word order)2] S10{0|c}. st 2% otoll M 2 AL0[2] 24 E Z2HS= &2 fEITUME
SARLHALR| 0| 2= EMO U1 RIX[= FRH0|C

HHH A0ME fIXI7F Z2EA0| 0 ZMI A 0|t ex) Mina saw Jane. / Jane saw Mina. 0|
Liet x[ele| 2{RIE HHPM 520] BITHE SHERRICEL HUHUM= CHEALE H2/5HHE Fo 2}
EMHE LIEIH= BAIXL = EMTZEEAL CHol 87| 20l 22| MES fIsiM =2
IR E AtESICE & o= €22l =M7t 0F 528 H0(C

Haro| 2IX|0f| e} SAF HAIR WA SAIEE HPY 7| = i) 0| 2H|8 waters
SARITEHEARITI? & CHO|CL IR0 w2t SAHE =| 10 HALE ElCt He drank a cup of
water. 1= B2 &t Z oIcK™EAD. Mina waters her flower every morning. o|Lb= o
OF&! Xp7| 0| 22 ECHSAD.

Ao B&2| 7HE 7| 2Ll FXE S(FO) + V(SAD + 0(=&0{) = Who do whato|c.
047|M A2t &2 0|7 HHE LHEI = RAFRYH(ES| MAIAE i E) O ol REX
ZIct. Who do what + adverbial. 047|M SAF27|2]|2] =M= where —» when — how —
why =0|ct 7|45 0F & 2 V(SAh2t 0(SA0) Alojol] ARt Ef 7|01 &= 8ich
V(SAH2t 0(BH0)2| ZE20| LRL ZSHMCE RAE 2ARWIE| M2 20[HM
V(SAD + 0(EXHK) Ct20| =X E L EICE S 8iRIH SH2Ee| #2 20| BHE0]
ZIck S(FH) + V(SAD + 0(20{) » where - when — how — why

ex) Li= M| 22| 0FXMIE THtd. | met my uncle yesterday.

AZta ZAaT o L2 o AlZHS 25K 222 2 Who do what — where — when
=0|ct L= oA chatol|AM mE S ahgtoh | met my professor at my university. A|ZH2
UZTE = AZERARE 2% 2o 2 AT SA 52 ®Ct Yesterday, | met my
professor at my university. Tomorrow, he will meet her at Insadong. 0{A| L= 2| &t
THE oot e O22 QASHM OHE 2 ZHOo|Ch

Mol howt LI B2
exX) LH= THE 7| nig o= mjelg sich,

= ——

| eat fruit everyday with pleasure.

02| why7} LI2M &4 — A|ZE - 0|7 =0ICh
ex) Al L= W EE2 F 25k 10 J0lAH S20|M H3E Z21ct | called him from
Jong-ro to cancel my ticket.

Ao B UxE SIHL SHMI7L & ) 252 2L} where - S(FH) + V(SAD +
0(SX0)oIct. 3|3t Me= AlZHS M HAISHOE & A7t B7| 20]Ch 1. Yesterday, |
met my uncle. (&= W7} 2| OFME 2. 2. Tomorrow, he will visit Mary. LH22 71
7t H2|E 2 Hok

1. S(01) + V(SAD + 0(=&04) - where — when — how — why

2. When = S(F0) + V(EA} + 0(2X0{) » where - how — why
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3% Choose the best answer for the blank.

1. A: Did everyone agree with Frank’s proposal?

B: Yes, he received support for his ideas.
(A) expressive (B) reasoned

(C) unanimous (D) distributed

2. Due to higher crime rates, the mayor announced that police will take tougher
to punish criminals.

(B) prospects

(D) assessments

(A) measures
(C) examples

3. Melanie collapsed after she broke her arm, from the pain.

(A) fainting (B) disappearing

(C) cheering (D) rejecting
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